EARAROBEEIERT — 2 N— IBISH —F

20155108250 (H) 16E£R1H

mﬂﬁ%—ﬂﬁ B12 (xwlw | mEmml - v ) w8
[AE4£] 1% :230,000” ~ 27%&:46,000”  33%&:20,000H” . 43%&:16,000 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. o L4 | LA 37, 3 - B (2R)
il F=vEs592 Bt w0 [ IR 28 e
R:V2RKYZYAIR B:7—Ibbhy /=X i M
= e {EE] 7., -1-1- 8] - £E—8 (&R)
2 3 FRYT YIS 4 S 1(337)8 1-1-1-1 | 40.8 1 g; T
RTIRAFIEI B:o>h>TFya A AK
I EIBRE . —7-7- — EHEE (£R)
s 4| ELTUF =7 6T I I ¢ f; A0EE
RTFATL XA L B TURT 1> TALDMS
= 4 3 | EABLR 1:38.7 9-9-9-7 [39.5| — 8 480 | HARR (£R)
4l 8377727 £54.0 ® © | Sr—2 FETar
L:Oyag4ny 7V wAL—IL FE R
o o o n=-4 . ~5-5- - SARED (£IR)
5 o | N=T AL it 4 e 1.(318).9 5-5-5-3 | 40.8 5 (4_527) nrIe
R:xA1=dr7—2 BEY/TL—-2ZX 79757714
3 — o HEZ :39. == . — SiEEE (&R
6lzlg| *T¥avat=J~= I 56.0 1<319>1 res |43 ° (5—076) ﬁiﬁﬁt
AN w4 =T BENAINZF v — =e)
. = > KEH : —6-5— — hnEEFNE (£R)
; Sy aeFTH > 3| KB 1(.13/92.>2 6-6-5-6 | 40.9 6 <4+631) e
R:TSv o848 BRUTLLTN HT &%
3 RHE : -11-10- — FH—R (£R)
gl5l5| 1vErTIE 3 o 1.(329).6 10-11-10-10{ 40.0 7 ?:135) e
Rixq4yayR—5— BikIrSa—F— A5l BiER
# o5 | HBEN 1:40.5 7-8-8-7 |41.9| — 10 | 499 |EHEX (&R)
9|81 /NI X 5.0 (@) we) | W) 77— kEVa
R:gA I =y BUIF4LTIUZ KRB RS
AN =y $BARK— : —3-4— = Iz (£R)
olgliol 7ustz%35u B4 3 1.(441).3 3-3-4-9 | 43.2 9 (4+617) T
L:xrinaO— B:HTHIXSUL =Sliztae]
4 4 | REXA 1:41.4 11-10-11-11| 41.4 | — 1" 422 | REBE (£R)
EH 6|7 bLt—U2R ¥¢53.0 (1/2) 1) A(lﬁl) J P N
R:TFATXEAL B:RIWNFTF4—"F7 HEAHZXF—T I
® I —F—@EBIERL
13—7+— 3,9,10,1,2,7,(4,11) ,8,5,6
2a=7r= 3,9,10,1,2,7,4,11,8,6,5
Jol=5r= 3,(1,9),10,(2,7),4,11,8,5,6
40—+ — 3,1,2,4,9,7,(8,11),10,5,6
[ N3
BB 1 430H 714K 1-3 190H % E 1-3 580M 3EHE 1-3-4 1,160H
8 B 1 1609 1-4 730M B 1= 1,720 K31 1-3-4 5,480
3 1009 3-4 240M B E 1-3 410
4 120 B H =8 1,240/

ABICOVWTRDTEEERROODE. TR LIV,




